一、
	
	102年
	101年

	
	Q
	P
	P
	Q

	X財
	50
	84
	50
	40

	Y財
	40
	100
	40
	25


若以101年為基期，求:

(1)實質GNP＝
(2)名目GDP＝

(3)101物價指數＝

二、(求至整數位)
	
	2011年
	2012年

	實質GDP
	2000
	2500

	名目GDP
	2200
	3500


(1)物價上漲率＝

(2)經濟成長率＝

三、公式

1. （       ）＋（        ）＝1

2. （       ）＋（        ）＝1

3.  APS（     ）MPS

4.  Y↑，C（       ）

5.  C＝（                    ）

6.  MPC（     ）APC

7.  Y↑，APS（       ）

8.  APC＝（         ）

9.  MPS＝（         ）

10.  Y↑，S（       ）

11.  APS＝（         ）

12.  S＝（                    ）

13.  Y↑，APC（       ）

14.  MPC＝（         ）
